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Safari Sam and Sally return from an expedition deep in the jungle to their small hometown of 2000
people. Immediately following their return, both become ill and are hospitalized with a mysterious and life-
threatening jungle fever. After 7 days, a total of 8 people have become ill with the fever. If the CDC is
unable to find a treatment for the fever, in how many days will 90% of the town's population have the
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A cup of coffee contains 130 mg of caffeine. If caffeine is eliminated from the body at a rate of 11% per
hour, how long will it take for half of the caffeine to be eliminated from a person's body?
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The Marshalls decided to have a Super Bowl Party. On Saturday, they bought cans of pop to
serve at the party; howeve, they did not have room in their refrigerator for the pop. Since it
was February, Bob suggested putting the pop outside to cool. Marilyn was OK with the idea,
but wanted to make sure that the pop would not freeze. She took a can of pop from the 72°
house to the deck where the air temperature was 25°. After 30 minutes, she checked the can
and found that the temperature of the soda had dropped to 60°. How many minutes before the
party begins will she want to place all of the pop outside if she wants it to be cooled to 35°?

M= T+ (u,—7)er®
( i )6 Fid e fo ool Foffu}f

SD\\/Q ’{'\D’ K ) %3.(3
K —_
bo= a5 + (12 -a5C 3 % +H2-25 )¢

—p.00983t

o =25 + 412 30K jo= 47¢

p—

35 47 3o

EITE

X‘\ ~|S7 _&gm\(
/_Q_,u
—0. ODﬁ 83: K.

all




